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Beam Current Calculation

Gaussian Fitting
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DVCS charge normalized yield dves selection: Emax > 2 GeV

2 1A cut 145 < clusT < 155
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DVCS charge normalized yield dves selection: Emax > 2 GeV

B 145 < clusT < 155
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DVCS charge normalized yield

dvcs selection: Emax > 2 GeV
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DVCS charge normalized yield

2 UA cut
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DVCS charge normalized yield dves selection: Emax > 2 GeV

B 145 <clusT <155
['=30 pAcut Charge normalized |DVCS events(LH2) / Mean value
Include col 1-28

random events removed

1.05

1.04

1.03

counts / Mean value

1.02

lI|I1II|IIII|IIII|III

I

-.ﬁ

1.01

0.99

0.98 Fit|[result: y = -0.0006x + 1.0201

2 { NDf = 47.844 /18

0.97

TI|IIII|IIII|IIII|IIII|II

10 15 20 25 30 35 40
Beam Current / uA

Applied the same cuts for the physical events

Fitting result
KinC x60 4b



DVCS charge normalized yield
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Stability requirements (abandon * 3 scaler readouts)
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